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o Dora, Dexter and Jack play basketball at
break time.

They record the goals they score in

a pictogram.
Name Goals
Dora e e
Dexter e e a e
ok | QOO9OO

a) Complete the sentences.

Dora scores Lr goals.

Dexter scores 8 goals.

Jack scores | () |goals.
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©) = 2 goals
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b) How many goals do they score altogether?

22

¢) How many more goals does Jack
score than Dexter? 2

d) How many ways could you work out the
answer to part c)?

(@

€) Two classes go on a trip to the zoo together.

There are two coaches to take both classes.

Coach 1 Coach 2

Bouys @ @ Boys @ @
Giis | OO || 6ins ©OOO©

Key
@©) = 10 children

Tick the correct answer.
a) Which coach has more boys?
Coach 1 Coach 2 [They have the satie



b) Which coach has more girls?

Coach 1 Coachmz_, They have the same

¢) How many qirls are there in total?

d) How many more girls than
boys are there on Coach 2?

e) How many more girls than boys
are there on the trip to the zoo?

f) How did you work out the answer to part e)? y

o At the zoo, Mo keeps a record of how many big

cats he sees.

Big Cat
Leopard '20 'R' ‘2‘
Cheetah ‘2" !20 ti"' !2!
Lion 120 !2!
oo | o
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Key

‘2" = 2 big cats

<)

.

(. more )

There are NO F
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a) Choose a word to complete the sentence.

fewer )

There are

Is Rosie correct? |

If I add the number of cheetahs
and lions together then it will be
equal to the number of tigers.

leopards than lions.

lions than cheetahs.

How do you know?

Is Alex correct?

Each ¥ represents 2 big cats so I
can just double the amount of ¥
and that will be how many big cats
there are.

How do you know?
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Deepen the moment...

There are various ways to represent the data.
For example:

Pizza

1. Anna is correct hecause there
are 20 red hallons.

2. True. 35 of the animals were
sheep, 15 of the animals
were pigs and 20 of the
animals were cows. 35 + 15
+20 =70

3. Zarwis incorrect hecause 24

is not in the 5 times tahles.
There are 12 circles so the
value of each circle is 2.
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: b) How many people chose blue as
Block diagrams — their favourite?

o The block diagram shows children’s
favourite colours.

¢) Which colour is least popular?

Red
14
13
ﬁ d) How many people chose orange as
10 their favourite?
9 q
8
; e) How many more people like yellow
5 than orange?
2 2
3
2
1
< o f) How many more people like yellow
o a 3 o than red?
5 a a 3 CD
2 ®
How did you work out your answers to
Use the block diagram to answer the questions. 9) ¢) and f)'? Y @

a) Which colour is most popular?
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6 The tally chart shows how many of each item o At the zoo, Mo keeps a record of how many
there is. big cats he sees.
Item Tally Total Big Cat  Key
ScGislzoers JI,::( _ : Leopard | W b $ "‘.' = 2 big cats
Pens null 6 Cheetah \'*‘0 "*'0 '20 \"’0
a) Do the totals match the tallies? Lion ‘2’ ‘.‘.'
Circle your r. . Tiger ..‘.’ ..‘.‘ ‘.‘.‘ ““' .‘..‘

Dora has tried to show the same information on

h) Use cubss 1o make towers:showing: how a block diagram but she has made a mistake.

many scissors, glue and pens there are.

@&

a) What mistake has Dora made? @
¢) Colour the block diagram using the tally @ 10 W77
chart and your cubes to help. 9 i
” 8 iy 7 WAL
9 7 Wi
8 i . WYk
7 Wrin N07777/
; A :
5 Ny 5
AT Dy 1
EX7)7)711107/ Vi L ds | Cheetah i '
2 MMMMM Wimnym eopards | Cheetahs Lions Tigers
1 [ i [ i, b) Complete the block diagram so that it is 56
Scissors Glue Pens correct.

Year 2 Answer Pack



'! PONTEFRACT

Deepen the moment
There are various questions yow could ask ahout the data.

For example:
What wus the least popular vehicle?

How many people chose lorry?
Which is the most popular vehicle?

Gold Task

1. Cereal is the same. Toust and eggs are
different.

2. Holly is correct because 3 children like
peas and 6 children like corn. 3 + 9 = 9.
Dan is incorrect hecause only 4 more

3. Milo is correct hecause 7 children like
snow and 5 children like sun. Ziggy is
incorrect because ruin wus the least
popular weather.
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Maths Answers: Lesson 3 — Assessment

White

Maiths,

Statistics

Name

o Rosie draws a tally chart for the hair colour of

the children in her class.

Hair colour Tally Number
Brown | T T I 3
Blonde | T ] I
Black WM | 6
Ginger | 2

How many children have brown hair?

|3 children T
Complete the tally for children with blonde hair.
| mark
How many children are in Rosie’s class?
32 children y—
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o The children in class 2 have a competition.
They count how many balls go through a hoop

in | minute.

The diagram shows the results.

=R IORIABD D

—MNW Loy~ ®ad

Ted | Bo [Jees| Mo | Kat | Lou]

Who gets the most badlls through the hoop?

Jess —
How many more balls does Kat get through
the hoop than Mo?
7 | mark
Lou gets O balls through the hoop.
Show this information on the block diagram. —



o The pictogram shows how much money 4

children have in their money box.

Child Money

ey 1O O O 0O
Jack | () () ()
Eva O O

e | OOOO0OO00O0

Each O represents £

How much money does Jack have?

£ 20

How much more money does Dora have than
Eva?

£ 25

| mark

If Teddy spends £5, how much money does he
have left?

£ 20

| mark
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o The pictogram shows how many eggs some

chickens lay each day.

Day Number of eggs
Monday OO 0O
Tuesday OO0 00
Wednesday O [
Thursday OO
Friday O O(

Each O represents 2 eggs.

How many eggs were laid on Wednesday?

3 _eggs

On Thursday, the chickens lay H eggs.

On Friday, the chickens lay one more egg than

they do on Thursday.

Complete the pictogram.

Circle how confident you feel with statistics.

| 2
Net
confident

3 4 )

Very
confident

| mark

2 marks
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Suni counted the colowrs of sweets in a jar.
Suni says,

Most sweets in the jar were
red.

True or false? Explain how you know.

Red | Hit 1
Pink | NI
Green | Hit it |

False hecause most sweets in the jar are green and only 6 sweets are red.
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Maths Answers: Lesson 4 — Main Blue Task
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Answers

e
.-.5?

o
|

Tally Chart

Tally

Total

udl
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A pictogram showing the fruit left over at the end of the week.

banana carrot tomato apple pear
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Deepen the Moment

Emma and Brody s pictograms look different
but they have not made a mistake.

On Emma's pictogram, each circle represents 5
children and on Brody s pictogram each square

represents 10 children.

Gold Task
1. How many bananas were left?
7

2. How many pears were left?
4

3. How many tomatoes and carrots were left altogether?
9

4, Which fruit had the least number of pieces left?
apples

5. How many fruits and vegetables were left altogether?
22
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Related fact

9 + 43 = 52
52 - 9 = 43
52 - 43 =9

27 + 26 = 53

26 + 27 = 53
53 - 27 =26
53 - 26 = 27

70 - 15 =55

70 - 55 =15
15+ 55 =70
55 +15 =70




English Answers — Lesson 1

Example answers:

1. A bike is a form of transport that can be ridden by one or two
riders. A hike usually has two wheels, a handle bar, breaks,

reflectors and a seat.
2. Handle bars are needed on a hike hecause they help the rider to

balance.

3. The seat can he changed on a hike to- depend on how tall the rider
is.

4. Over the year hikes have changed because different hikes have
different uses.

5. One way of staying safe on a bike is to always wear a helmet.

Deepen the moment

Example answer:
It is important to stay safe when youw are on a hike hecause you could

English Answers — Lesson 2

Deepen the moment - Can you spot the mistakes in the sentence helow?

Mrs Armitage loves to ride her bicycle. She
has a dog called Breakspear. Mrs Armitage’s
scarf is red and her coat is green. She also

wears glasses on her long, pointy nose.
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Reading for Productivity Answers

Reading for Productivity lesson 1

1.

In Hebhrew, a synagogue is called beit knesset, which means, a

A room for a choir to sing.

The Ark.

The Eternal Lamp is a symhol which means that God is always
there.

Listen carefully to the person reading the Toroh scroll. Make sure you
are in the correct section for yowr gender.

Reading for Productivity lesson 2

1.

WordArt

2. Please find the lines drawn correctly below:

2. CompLeteeud‘bwﬁmb@de@wthnwtdd

sharing documents.
Users can... ...wus released, in, 1983.
Documentscan.... | | .. incudetahles, shapes and
numhers.

3. To change and improve a document.
4. Posters, letters, information texts, greeting cards, invitations etc.
5. When making some of the ahove documents — children to give

specific examples.

Reading for Productivity lesson 3

v o c wNe

Antonio Carlos Johim and Joto Gilberto

It is more complex.

Samha and cool jazz.

The Girl From Ipanema

Bossa novu is usually performed on classical guitar and piano.
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Reading for Productivity lesson 4

1. It's used for objects that need to be transparent, such as windows

and, spectacles.

2. Please find lines drown helow to- match.:
2. Maich each hox to finish the sentence descrihing each material:

Metal s used to make windows.
Glass, >< is- used. to- make cutlery.
Fabri s used to make clothes.

3. It is strong and long-lasting.

4. Plastics are materials made from chemicals and are not found, in

natwre.
5. Metal.

Reading for Productivity lesson 5
1. The wheels twm.

2. False.

3. Axle.

4. A wusher.

5. A shoehox lid.

6. Holes are made on each side of the hox and the axles can then be

Year 2 Answer Pack




